

Available online at www.sciencedirect.com

ScienceDirect

www.elsevier.com/locate/ymse

Return to golf after shoulder arthroplasty: an American Shoulder and Elbow Surgeons multicenter study predicting performance after reverse total shoulder arthroplasty and anatomic total shoulder arthroplasty

ASES Multicenter Research Group^{*,1}

ABSTRACT

Background: Return to sport (RTS), particularly golf, and athletic performance following reverse shoulder arthroplasty (rTSA) and anatomic shoulder arthroplasty (aTSA) remain largely understudied. Moreover, limited data exist on characteristics that predict successful RTS. This study aimed to evaluate return to golf after shoulder arthroplasty, as well as identify patient factors associated with optimal return to play.

Materials and methods: A multicenter analysis utilizing RTS questionnaires was distributed to patients undergoing rTSA or aTSA at 17 institutions. We assessed preoperative golf participation, return to golf postoperatively, golf performance relative to preoperative level, and frequency of golf participation. Overall subjective satisfaction with their operative shoulder during golf activities was assessed numerically (0–10). Two separate age- and sex-matched propensity score analyses were performed; first to compare rTSA and aTSA performed for osteoarthritis with an intact rotator cuff (glenohumeral osteoarthritis), and second to compare rTSA performed for glenohumeral osteoarthritis and rotator cuff arthropathy. Golf-specific outcomes included change of self-reported handicap and driving distance before and after surgery, as well as whether hand dominance influenced outcomes.

Results: Two hundred eight patients reported golf participation, with a mean follow-up of 24.3 ± 5.7 months. The cohort was 77.9% male, with a mean age of 69.0 ± 7.9 years and body mass index of 29.0 ± 5.5 . Postoperatively, 88.9% ($n = 185$) returned to golf, and 79.3% ($n = 165$) reported that their performance improved/remained unchanged. Most patients (46.8%) returned within 3–6 months, and

Approved by the Institutional Review Board of the New England Baptist Hospital; Project Number - # 2142768.

*Reprint requests: Andrew Jawa, MD, Boston Bone and Joint Institute, 71 Border Rd, Waltham, MA 02451, USA.

E-mail address: andrewjawa@gmail.com (A. Jawa).

See [Appendix A](#) for all disclosures.

¹ASES Multicenter Research Group: Regan P. Arnold, BA, (Department of Orthopaedic Surgery, New England Baptist Hospital, Boston, MA, USA); Jason Corban, MD, (Department of Orthopaedic Surgery, New England Baptist Hospital, Boston, MA, USA); Declan R. Diestel, BA, (Department of Orthopaedic Surgery, New England Baptist Hospital, Boston, MA, USA); Jacob M. Kirsch, MD, (Department of Orthopaedic Surgery, New England Baptist Hospital, Boston, MA, USA); Adam Bowler, BA, (Department of Orthopaedic Surgery, New

another 31.7% between 7 and 12 months. After propensity score matching, 91 rTSA and 48 aTSA patients were analyzed. Return-to-golf rates were similar (rTSA 95.6% vs. aTSA 90.0%, $P = .313$), as were rates of maintained/improved performance (84.6% vs. 81.3%, $P = .313$). No significant differences were found in preoperative or postoperative handicap, driving distance, or outcomes based on surgery on the dominant vs. nondominant side.

Discussion: Patients demonstrate a high rate of returning to golf following both rTSA and aTSA. Among golfers the ability to return to play and performance level was comparable between arthroplasty types. No significant differences were observed between rTSA and aTSA in terms of postoperative handicap, driving distance, or side of surgery relative to hand dominance. However, despite these similarities, revision arthroplasty was independently associated with worse postoperative patient perceived golf performance. As the number of active patients undergoing shoulder arthroplasty continues to rise, the ability to provide sport-specific counseling is essential for setting realistic expectations and supporting recovery.

England Baptist Hospital, Boston, MA, USA); Evan A. Glass, BS, (Department of Orthopaedic Surgery, New England Baptist Hospital, Boston, MA, USA); Miranda McDonald-Stahl, BS, (Department of Orthopaedic Surgery, New England Baptist Hospital, Boston, MA, USA); Calista S. Stevens, BA, (University of Connecticut School of Medicine, Farmington, CT, USA); Makenna Eccles, BA, (Department of Orthopaedic Surgery, New England Baptist Hospital, Boston, MA, USA); Richard Puzitiello, MD, (Department of Orthopedic Surgery, Tufts Medical Center, Boston, MA, USA); Michael A. Moverman, MD, (Department of Orthopedic Surgery, Tufts Medical Center, Boston, MA, USA); Joey LaMartina II, MD, (St. Tammany Health System, Covington, LA, USA); Austin Middleton, MD, (Department of Orthopaedic Surgery, New England Baptist Hospital, Boston, MA, USA); Kiet Le, PA-C, (Department of Orthopaedic Surgery, New England Baptist Hospital, Boston, MA, USA); Warren Dunn, MD, (Department of Orthopaedic Surgery, New England Baptist Hospital, Boston, MA, USA); Andrew Jawa, MD, (Department of Orthopaedic Surgery, New England Baptist Hospital, Boston, MA, USA); Kaley Beall, BS, MPH, (Department of Orthopaedic Surgery, New England Baptist Hospital, Boston, MA, USA); Maria Bozoglian, MD, (Department of Orthopedics and Rehabilitation, University of Iowa Hospitals and Clinics, Iowa City, IA, USA); Dana Garrison, MA, CRS, (University of Arkansas for Medical Sciences, Department of Orthopaedic Surgery, Little Rock, AR, USA); Amir Fanaei, MD, (Saint Louis University School of Medicine, Department of Orthopaedic Surgery, Saint Louis, MO, USA); Paul McMillan, MD, (University of Cincinnati College of Medicine, Cincinnati, OH, USA); Asim Khan, BS, (Midwest Orthopaedics at Rush, Rush University Medical Center, Chicago, IL, USA); Jada Laws BA, (University of Tennessee Health Science Center-Campbell Clinic Department of Orthopaedic Surgery & Biomedical Engineering, Memphis, TN, USA); Mihir Sheth, MD, (Georgetown University School of Medicine, Orthopaedic Surgery, Washington, DC, USA); Catherine Shemo, BS, (Department of Orthopaedic Surgery, Cleveland Clinic, Cleveland, OH, USA); Nick Wiley, MS, (Department of Orthopaedic Surgery, Harvard Medical School, Massachusetts General Hospital, Boston Shoulder Institute, Boston, MA, USA); David Glaser, MD, (University of Pennsylvania, Philadelphia, PA, USA); Andrew Kuntz, MD, (University of Pennsylvania, Philadelphia, PA, USA); Dylan J. Cannon, MD, (Holy Cross Orthopedic Institute, Fort Lauderdale, FL, USA); Hunter Blake Carlson, BS, (University of Utah School of Medicine, Salt Lake City, UT, USA); Peter J. Chabot, BS, (Hospital for Special Surgery, New York City, NY, USA); Charles Cogan, MD, (Department of Orthopaedic Surgery, Cleveland Clinic, Cleveland, OH, USA); Matthew R. Colatruglio, MD, (University of Tennessee Health Science Center-Campbell Clinic Department of Orthopaedic Surgery & Biomedical Engineering, Memphis, TN, USA); Lisa GM. Friedman, MD, (University of Pennsylvania, Philadelphia, PA, USA); Jaina A. Gaudette, BSE, (Midwest Orthopaedics at Rush, Rush University Medical Center, Chicago, IL, USA); John Green, MD, (Saint Louis University School of Medicine, Department of Orthopaedic Surgery, Saint Louis, MO, USA); Lauren Grobaty, MD, (Department of Orthopaedic Surgery, Cleveland Clinic, Cleveland, OH, USA); Michael Gutman, MD, (Rothman Orthopaedic Institute, Philadelphia, PA, USA); Jason C. Ho, MD, (Department of Orthopaedic Surgery, Cleveland Clinic, Cleveland, OH, USA); Keegan Hones, MD, (Department of Orthopaedic Surgery and Sports Medicine, University of Florida College of Medicine, Gainesville, FL, USA); Ermyas Kahsai, MD, (University of Washington Department of Orthopaedics and Sports Medicine, Seattle, WA, USA); Jacquelyn Kakalecik, MD, (Department of Orthopaedic Surgery and Sports Medicine, University of Florida College of Medicine, Gainesville, FL, USA); Mitchell Kirkham, BSE, (University of Utah School of Medicine, Salt Lake City, UT, USA); Michael A. Kloby, MS, (University of Cincinnati College of Medicine, Cincinnati, OH, USA); Elliot N. Konrade, MD, (University of Tennessee Health Science Center-Campbell Clinic Department of Orthopaedic Surgery & Biomedical Engineering, Memphis, TN, USA); Margaret C. Knack, RN, BSN, MS, CCRP, (University of Tennessee Health Science Center-Campbell Clinic Department of Orthopaedic Surgery & Biomedical Engineering, Memphis, TN, USA); Tyler LaMonica, MS, LAT, ATC, (Department of Orthopaedic Surgery and Sports Medicine, University of Florida College of Medicine, Gainesville, FL, USA); Amy Loveland, MA, (MedStar Union Memorial Hospital, Baltimore, MD, USA); Joshua I. Mathew, BS, (Hospital for Special Surgery, New York City, NY, USA); Emma Merrill, BS, (University of Utah School of Medicine, Salt Lake City, UT, USA); Albert D. Mousad, MD, (University of Washington Department of Orthopaedics and Sports Medicine, Seattle, WA, USA); Luke Myhre, MD, University of Utah School of Medicine, Salt Lake City, UT, USA); Andrew Nahr, MD, (University of Tennessee Health Science Center-Campbell Clinic Department of Orthopaedic Surgery & Biomedical Engineering, Memphis, TN, USA); Jacob Nyfeler, BS, (University of Utah School of Medicine, Salt Lake City, UT, USA); Doug E. Parsell, PhD, (Mississippi Sports Medicine and Orthopaedic Surgery, Jackson, MS, USA); Midhat Patel, MD, (Department of Orthopaedic Surgery, Cleveland Clinic, Cleveland, OH, USA); Marissa Pazik, MS, LAT, ATC, CSCS, Department of Orthopaedic Surgery and Sports Medicine, University of Florida College of Medicine, Gainesville, FL, USA); Teja S. Polisetty, MD, (Holy Cross Orthopedic Institute, Fort Lauderdale, FL, USA); Padmavathi Ponnuru, PhD, (Penn State Bone and Joint Institute, Hershey, PA, USA); John Scanaliato, MD, (Midwest Orthopaedics at Rush, Rush University Medical Center, Chicago, IL, USA); Arden Shen, BS, (Midwest Orthopaedics at Rush, Rush University Medical Center, Chicago, IL, USA); Karch M. Smith, BA, (University of Utah School of Medicine, Salt Lake City, UT, USA); Katherine A. Sprengel, MA, (Midwest Orthopaedics at Rush, Rush University Medical Center, Chicago, IL, USA); Ocean Thakar, MD, (MedStar Union Memorial Hospital, Baltimore, MD, USA); Lacie Turnbull, MD, (Department of Orthopaedic Surgery and Sports Medicine, University of Florida College of Medicine, Gainesville, FL, USA); Alayna Vaughan, BA, (Rothman Orthopaedic Institute, Philadelphia, PA, USA); John C. Wheelwright, BS, (University of Utah School of

Level of evidence: Level III; Retrospective Cohort Comparison; Prognosis Study

Keywords: Return to sport (RTS); reverse total shoulder arthroplasty (rTSA); anatomic total shoulder arthroplasty (aTSA); propensity score analysis; patient-reported outcomes; glenohumeral osteoarthritis (GHOA); rotator cuff arthropathy (RCA)

© 2026 Journal of Shoulder and Elbow Surgery Board of Trustees.

Golf is an increasingly popular sport, played in 206 countries worldwide.³⁶ In the United States alone, nearly 50 million people golf, in part because the game is accessible to individuals of all ages who have a wide range of physical health and ability.²⁷ While participation is growing among younger generations, golfers aged 50 and older still comprise 43% of total on-course participants, while those older than 65 account for about 20%.²⁷

For these aging adults, golf represents a practical and safe form of physical activity. There are many health benefits of regular exercise such as reduced risk of diabetes,³¹ osteoporosis,¹³ chronic obstructive pulmonary disorder,²⁰ and heart disease.¹¹ Golf has been specifically associated with improved balance control,³⁴ joint proprioceptive activity,³³ flexibility,³⁰ and ability to confidently complete activities of daily living.¹² Beyond its physical benefits, golf is also linked to improved psychological and social well-being.³² Given these advantages of golf for aging adults, many individuals undergoing orthopedic care are motivated to return to the sport. This is particularly relevant for those requiring surgical intervention for the shoulder given its intimate relationship to the golf swing.

Shoulder arthroplasty has become an increasingly popular treatment for a wide range of pathologies affecting the

glenohumeral joint.^{1,2,5,6,16} With increasing awareness of both anatomic total shoulder arthroplasty (aTSA) and reverse shoulder arthroplasty (rTSA), coupled with broadening surgical indications, there has been an exponential increase in the number of arthroplasties performed globally.^{2,10,16} As both aTSA and rTSA become more commonplace, there is growing attention to patients' ability to return to sports (RTSs) and recreational activities after arthroplasty, as expectations increasingly extend beyond pain relief and basic function.¹ To best support these goals, surgeons must understand how postoperative outcomes—like return to golf—differ between aTSA and rTSA.

Lansdown et al²¹ were among the first to compare rates of return to golf following rTSA and TSA. In their sample of 31 patients, they reported that patients were significantly more likely to resume golf after aTSA than after rTSA (93% vs. 56%, $P = .037$). The authors suggested this may be because the golf swing preferentially activates the rotator cuff muscles, whereas the deltoid plays only a minimal role.^{7,9,19,26} Boltuch et al³ conducted a similar analysis with an expanded cohort ($n = 69$) and found conflicting results. They reported that patients returned to golf at similar rates regardless of which arthroplasty they received (rTSA: 91% within 1 year, aTSA: 85%

Medicine, Salt Lake City, UT, USA); Anastasia Whitson, BS, (University of Washington Department of Orthopaedics and Sports Medicine, Seattle, WA, USA); Anna B. Williams, BA, (Hospital for Special Surgery, New York City, NY, USA); Tyler Williams, BS, (Midwest Orthopaedics at Rush, Rush University Medical Center, Chicago, IL, USA); Joseph Abboud, MD, Rothman Orthopaedic Institute, Philadelphia, PA, USA); April Armstrong, MD, (Penn State Bone and Joint Institute, Hershey, PA, USA); Luke Austin, MD, (Rothman Orthopaedic Institute, Philadelphia, PA, USA); Tyler Brolin, MD, (University of Tennessee Health Science Center-Campbell Clinic Department of Orthopaedic Surgery & Biomedical Engineering, Memphis, TN, USA); Vahid Entezari, MD, (Department of Orthopaedic Surgery, Cleveland Clinic, Cleveland, OH, USA); Bassem Elhassan, MD, (Department of Orthopaedic Surgery, Harvard Medical School, Massachusetts General Hospital, Boston Shoulder Institute, Boston, MA, USA); Joseph Galvin, MD, (Department of Orthopedics and Rehabilitation, University of Iowa Hospitals and Clinics, Iowa City, IA, USA); J. Ryan Hill, MD, (University of Arkansas for Medical Sciences, Department of Orthopaedic Surgery, Little Rock, AR, USA); Grant E. Garrigues, MD, (Midwest Orthopaedics at Rush, Rush University Medical Center, Chicago, IL, USA); Brian Grawe, MD, (University of Cincinnati College of Medicine, Cincinnati, OH, USA); Lawrence V. Gulotta, MD, (Hospital for Special Surgery, New York City, NY, USA); Rhett Hobgood, MD, (Mississippi Sports Medicine and Orthopaedic Surgery, Jackson, MS, USA); John G. Horneff, MD, University of Pennsylvania, Philadelphia, PA, USA); Joseph Iannotti, MD, (Department of Orthopaedic Surgery, Cleveland Clinic, Cleveland, OH, USA); Jason E. Hsu, MD, (University of Washington Department of Orthopaedics and Sports Medicine, Seattle, WA, USA); Michael Khazzam, MD, (UT Southwestern Medical Center, Dallas, TX, USA); Joseph J. King, MD, (Department of Orthopaedic Surgery and Sports Medicine, University of Florida College of Medicine, Gainesville, FL, USA); Jonathan C. Levy, MD, (Levy Shoulder to Hand Center at the Paley Orthopedic and Spine Institute, Boca Raton, FL, USA); Ryan Lohre, MD, (Department of Orthopaedic Surgery, Harvard Medical School, Massachusetts General Hospital, Boston Shoulder Institute, Boston, MA, USA); Sameer Nagda, MD, (Georgetown University School of Medicine, Orthopaedic Surgery, Washington, DC, USA); Brendan Patterson, MD, (Department of Orthopedics and Rehabilitation, University of Iowa Hospitals and Clinics, Iowa City, IA, USA); Anand Murthi, MD, (MedStar Union Memorial Hospital, Baltimore, MD, USA); Surena Namdari, MD, (Rothman Orthopaedic Institute, Philadelphia, PA, USA); Gregory P. Nicholson, MD, (Midwest Orthopaedics at Rush, Rush University Medical Center, Chicago, IL, USA); Randall J. Otto, MD, (Saint Louis University School of Medicine, Department of Orthopaedic Surgery, Saint Louis, MO, USA); Eric T. Ricchetti, MD, (Department of Orthopaedic Surgery, Cleveland Clinic, Cleveland, OH, USA); Glen Ross, MD, (Department of Orthopaedic Surgery, New England Baptist Hospital, Boston, MA, USA); Sarav Shah, MD, (Department of Orthopaedic Surgery, New England Baptist Hospital, Boston, MA, USA); Thomas Throckmorton, MD, (University of Tennessee Health Science Center-Campbell Clinic Department of Orthopaedic Surgery & Biomedical Engineering, Memphis, TN, USA); Thomas Wright, MD, (Department of Orthopaedic Surgery and Sports Medicine, University of Florida College of Medicine, Gainesville, FL, USA); Robert Gillespie, MD, (University Hospitals Ahuja Medical Center); Benjamin W. Sears, MD, (Western Orthopedics, P.C.); Robert Z. Tashjian, MD, (University of Utah School of Medicine, Salt Lake City, UT, USA); Peter S. Johnston, MD, (Southern Maryland Orthopaedic & Sports Medicine Center); Armodios M. Hatzidakis, MD, (Western Orthopedics, P.C.).

within 1 year, $P = .640$). There were, however, far more patients in their cohort who received aTSA ($n = 47$) than rTSA ($n = 22$), potentially influencing the results.

The comparison between aTSA and rTSA in the context of returning to golf remains incompletely understood. Our multicenter research group leveraged a large patient pool and propensity score-matched cohorts to better understand the differences between rTSA and aTSA for postoperative return to golf. In addition to evaluating rates of return to play, golf specific functional outcomes, patient factors, and diagnoses associated with optimal return to play, we also assessed whether the side of arthroplasty—leading or trailing shoulder—affects return to play, recognizing the distinct biomechanical roles of each shoulder during the golf swing. We hypothesized that aTSA and rTSA result in comparable return to golf outcomes, with no significant difference between the 2.

Materials and methods

Study design

A multicenter analysis utilizing golf-specific RTS questionnaires was completed by the patients of 24 American Shoulder and Elbow Surgeons across 17 institutions undergoing rTSA or aTSA. Study parameters were defined by the Delphi method, requiring 75% agreement for consensus. Inclusion and exclusion criteria, study definitions, as well as the questionnaires were determined using the Delphi method. Patients who underwent rTSA or aTSA between April 2021 and April 2024 were eligible for inclusion, provided they had a minimum of 1-year and a maximum of 3-year follow-up. The following diagnoses were included glenohumeral osteoarthritis (GHOA), rotator cuff arthropathy, post-capsulorrhaphy arthritis, fracture sequelae, acute fracture, avascular necrosis, inflammatory arthritis, massive cuff tear without arthritis, and revision arthroplasty. The timing of inclusion varied based on when each institution contacted their respective patients. All eligible patients were contacted, and those who completed the golf-specific RTS questionnaire were included in the study. This study was approved by the New England Baptist Hospital Institutional Review Board (Project# 2142768).

Golf-specific RTS questionnaires

The RTS questionnaires assessed participation in the following sports: golf, pickleball, tennis, running, weightlifting, yoga, and swimming. Patients could report participation in up to 2 sports. In the current study, only golf participation was considered. The outcomes of interest were ability to return to golf postoperatively (yes/no), postoperative patient perceived golf performance relative to preoperative level (improved/stayed the same vs. worsened), frequency of golf participation relative to preoperative level (more frequently/same frequency vs. less frequently), and enjoyment level relative to preoperatively (more enjoyable/same amount vs. less enjoyable). Patient reported golf performance metrics (change in driving distance and handicap) and effects of

arthroplasty laterality (lead vs. trail shoulder) were also assessed. Dominant versus nondominant shoulder was defined based on patient self-reported hand dominance. In the golf swing, the lead shoulder (closer to target while swinging) is typically the player's nondominant shoulder while the trail shoulder (further from target while swinging) is typically the player's dominant shoulder. The timing of return to golf was determined at predefined intervals of <3 months, 3-6 months, 7-12 months, and 12+ months. Overall subjective satisfaction with their operative shoulder, while golfing was assessed numerically (0-10, with 10 being most satisfied).

Delphi method

The Delphi method is an iterative survey process that is used to reach a consensus across a group of experts. Eight contributing American Shoulder and Elbow Surgeons surgeons utilized the Delphi method to define study parameters as well as design the golf-specific questionnaires. Consensus was defined as a minimum of 75% agreement on each questionnaire. Anonymity was maintained throughout the iterative process to minimize bias. A total of 16 rounds were produced to define the study protocol as well as design the golf questionnaire. During each round, closed and open-ended questions were sent to all surgeons and their responses recorded. Written responses not included in the original question stem for those questions not achieving consensus were subsequently added for further rounds. After each round, results were presented to the entire group. There was no attrition between rounds.

Statistical analysis

Data were assessed for normality, and appropriate parametric or nonparametric tests were applied. Continuous variables were reported as means and standard deviations, while categorical variables were summarized as counts and percentages. Univariate analysis of variance was used to compare patient outcomes across different sports as well as overall participant outcomes for all diagnoses.

Two separate age- and sex-matched propensity score analyses were conducted: the first compared primary rTSA and aTSA performed for GHOA with an intact rotator cuff, and the second compared primary rTSA performed for GHOA versus rotator cuff arthropathy (RCA). Categorical variables were compared using Pearson's chi-squared test, and continuous variables were analyzed using the Wilcoxon test. A multivariable logistic regression model was constructed to identify patient factors associated with worse postoperative performance across all sports. Results are presented as odds ratios with 95% confidence intervals. Wald statistics and analysis of variance plots were generated to assess the relative strength of predictor variables. Statistical analyses were performed using open-source R statistical software (R Foundation for Statistical Computing, Vienna, Austria), with multivariable models fit using the rms package [Ref – FE HJ. rms: Regression Modeling Strategies. <https://cran.r-project.org/web/packages/rms/>].

Table I – Golf participant cohort demographics

Parameter	n = 208
Age	69.0 ± 7.9
Sex	
Male	77.9% (162)
Female	22.1% (46)
Type of arthroplasty	
rTSA	74.0% (154)
aTSA	26.0% (54)
BMI	29.0 ± 5.5
Follow-up A (months)	24.3 ± 5.7
ASA comorbidity score >2	26.9% (56)
Comorbidities	
Hypertension	44.2% (92)
Hypercholesterolemia	43.8% (91)
Diabetes mellitus	11.1% (23)
Osteoporosis	3.4% (7)
Obesity	33.7% (70)
History of smoking	33.7% (70)
Prior ipsilateral shoulder surgery	31.3% (65)
Complications	2.4% (5)
Primary diagnosis	
GHOA	72.6% (151)
RCA	14.4% (30)
PCA	3.8% (8)
Fracture sequelae	0.0% (0)
Acute fracture	2.4% (5)
Avascular necrosis	0.5% (1)
Inflammatory arthritis	0.0% (0)
Massive cuff tear without arthritis	2.4% (5)
Failed arthroplasty	2.9% (6)

GHOA, glenohumeral osteoarthritis; RCA, rotator cuff arthropathy; TSA, total shoulder arthroplasty; BMI, body mass index; ASA, American Society of Anesthesiologists; PCA, post-capsulorrhaphy arthropathy; rTSA, reverse total shoulder arthroplasty.

Results

Overall athlete demographics

Two hundred eight patients responded to the golf-specific return-to-sport questionnaire with a mean postoperative follow-up of 24.3 ± 5.7 months (Table I). The mean age was 69.0 ± 7.9 years with 77.9% ($n = 162$) being male. rTSA was performed in 74.0% of patients ($n = 154$), while the remaining 26.0% underwent aTSA ($n = 54$). The primary diagnosis was GHOA in 72.6% of patients ($n = 151$), and RCA in 14.4% ($n = 30$).

Golf participant breakdown

Overall, 88.9% of participants ($n = 185$) returned to golf postoperatively (Table II). Among the 23 participants who did not RTSs, 12 (52%) reported it was due to reasons unrelated to their shoulder. Additionally, 79.3% of participants ($n = 165$) reported their performance either improved or stayed the same, 73.1% of participants ($n = 152$) reported more or the same frequency of participation since surgery, and 82.7% of participants ($n = 172$) reported more or the same enjoyment since surgery. Most participants (46.8%) returned to golf within 3–6 months postoperatively, while an additional 31.7% returned within 7–12 months (Table II).

Table II – Golf participant outcome breakdown

Parameter	Golf participants (n = 208)
Still playing postoperatively?	
Yes	88.9% (185)
Performance level compared to preoperative	
Improved/stayed the same	79.3% (165)
Enjoyment level compared to preoperative	
More enjoyable/same amount	82.7% (172)
Frequency of participation compared to preoperative	
More frequently/same amount	73.1% (152)
How long after surgery did you resume sport participation?	$n = 205$
<3 mo	10.2% (21)
3–6 mo	46.8% (96)
7–12 mo	31.7% (65)
12+ months	11.2% (23)
Satisfaction score	
0–10	9.2 ± 1.5

Age and sex propensity score-matched rTSA vs. aTSA for GHOA

After propensity score matching by age and sex for patients undergoing rTSA for GHOA and aTSA for GHOA, the cohorts consisted of 91 and 48 patients, respectively (Table III). There were no significant differences in age (rTSA 68.6 ± 6.4 years versus aTSA 67.4 ± 7.1 years; $P = .338$), sex (rTSA 78.0% male versus aTSA 91.3% male, $P = .821$), or body mass index (BMI) (rTSA 28.9 ± 5.1 versus aTSA 30.1 ± 6.6 , $P = .251$). There were no differences in the overall ability to return to golf (rTSA: 95.6% vs. aTSA: 90.0%, $P = .313$), performance level (improved/stayed the same) of golfers (rTSA: 84.6% vs. aTSA: 81.3%, $P = .789$), frequency (more frequent/same amount) of golf participation (rTSA: 81.3% vs. aTSA: 75.0%, $P = .514$), enjoyment level (more enjoyable/same amount) during golf participation (rTSA: 91.2% vs. aTSA: 83.3%, $P = .27$), or overall postoperative satisfaction with shoulder while golfing (rTSA: $9.5/10 \pm 1.1$ vs. aTSA: $9.0/10 \pm 1.8$) comparing patients undergoing rTSA and aTSA.

Additionally, between these age- and sex-matched cohorts there was no significant difference between the changes in driving distance (rTSA: 1.2 ± 22.6 m vs. aTSA: -1.6 ± 40.5 m, $P = .142$) or handicap (rTSA: 0 ± 4.1 vs. aTSA: -0.9 ± 5.2 , $P = .17$) comparing patients undergoing rTSA and total shoulder arthroplasty. Preoperative handicap (rTSA: 19.8 ± 8.2 vs. aTSA: 19.0 ± 9.6 , $P = .382$) and driving distance (rTSA: 173.6 ± 43.9 m vs. aTSA: 185.1 ± 45.4 m) were not significantly different between the 2 cohorts (Table IV).

Breakdown of hand dominance in rTSA and aTSA for GHOA cohort

For the rTSA cohort, outcomes were compared between patients who underwent surgery on their dominant versus nondominant side (Table V). Patients who underwent rTSA on their nondominant side were slightly older than those treated on their dominant side ($P = .018^*$). There were no significant

Table III – Golf participant breakdown of age- and sex-matched RSA and TSA cohorts

Parameter	Golf		P value
	RSA for OA	TSA for OA	
	n = 91	n = 48	
Age*	68.6 ± 6.4	67.4 ± 7.1	.338
Sex*			
Male	78.0% (71)	81.3% (39)	.821
Female	22.0% (20)	18.7% (9)	
BMI	28.9 ± 5.1	30.1 ± 6.6	.251
Still playing postoperatively?			
Yes	95.6% (87)	90.0% (43)	.313
Performance level compared to preoperative			
Improved/stayed the same	84.6% (77)	81.3% (39)	.789
Enjoyment level compared to preoperative			
More enjoyable/same amount	91.2% (83)	83.3% (40)	.27
Frequency of participation compared to preoperative			
More frequently/same amount	81.3% (74)	75.0% (36)	.514
How long after surgery did you resume golf participation?			
<3 mo	7.7% (7)	12.5% (6)	.211
3-6 mo	42.9% (39)	54.2% (26)	
7-12 mo	36.3% (33)	20.8% (10)	
12+ months	13.2% (12)	10.4% (5)	
Satisfaction score			
0-10	9.5 ± 1.1	9.0 ± 1.8	.124

OA, osteoarthritis; BMI, body mass index; TSA, total shoulder arthroplasty; rTSA, reverse total shoulder arthroplasty.
 * Factors used for propensity matching.

Table IV – Golf participant sport-specific breakdown of matched RSA and TSA cohorts

Parameter	Golf		P value
	RSA for OA	TSA for OA	
	n = 91	n = 48	
What is your handicap?			
Preoperative	19.8 ± 8.2	19.0 ± 9.6	.382
Postoperative	19.7 ± 8.4	18.1 ± 9.8	.174
Change	0 ± 4.1	−0.9 ± 5.2	.17
Handicap improved/stayed the same	n = 68	n = 34	.127
	69.1% (47)	85.3% (29)	
What is your average driving distance? (meters)			
Preoperative	173.6 ± 43.9	185.1 ± 45.4	.226
Postoperative	174.5 ± 43.3	182.4 ± 40.2	.341
Change	1.2 ± 22.6	−1.6 ± 40.5	.142
Driving distance improved/stayed the same	n = 86	n = 38	
	75.6% (65)	76.3% (29)	>.999

OA, osteoarthritis; TSA, total shoulder arthroplasty; rTSA, reverse total shoulder arthroplasty.

differences between groups in sex, BMI, return-to-golf rates, postoperative performance, enjoyment, frequency of play, time to return to golf, or satisfaction with shoulder function while golfing (all $P > .05$).

Similarly, for aTSA patients (Table VI), no significant differences were found between dominant- versus nondominant-

side procedures with respect to demographic variables or golfing-related outcomes, including return to play, performance level, enjoyment, frequency, time to resume play, and postoperative satisfaction (all $P > .05$).

Age and sex propensity score-matched rTSA for GHOA vs. RCA

After propensity score matching by age and sex for patients undergoing rTSA for GHOA and rTSA for RCA, the cohorts consisted of 67 and 24 patients, respectively. There were no significant differences in age (GHOA 70.2 ± 6.5 years vs. RCA 71.7 ± 6.3 years; $P = .533$), sex (GHOA 82.1% male vs. RCA 79.2% male, $P = .992$), or BMI (rTSA 28.6 ± 5.2 vs. RCA 29.0 ± 5.2, $P = .858$). Further, there was no significant difference in the overall ability to return to golf (GHOA: 94.0% vs. RCA: 87.5%, $P = .375$), performance level (improved/stayed the same, GHOA: 89.6% vs. RCA: 79.2%, $P = .289$), enjoyment while golfing (improved/stayed the same, GHOA: 92.5% vs. RCA: 87.5%, $P = .430$), frequency of play (more frequent/same amount, GHOA: 80.6% vs. RCA: 63.0%, $P = .482$), time to resume golfing ($P = .128$) or overall subjective postoperative satisfaction with shoulder while golfing (GHOA: 9.5/10 ± 1.1 vs. RCA: 9.7/10 ± 0.7, $P = .690$) comparing patients undergoing rTSA for GHOA compared to RCA (Table VII).

Additionally, between these age- and sex-matched cohorts there was no significant difference between the changes in driving distance (GHOA: 1.0 ± 20.5 m vs. RCA: −7.7 ± 16.2 m, $P = .142$) or handicap (GHOA: −0.5 ± 3.7 vs. RCA: 0.6 ± 3.5, $P = .458$) comparing patients undergoing rTSA for osteoarthritis and RCA (Table VIII). Preoperative handicap (GHOA: 19.6 ± 8.0 vs. RCA: 19.8 ± 12.8, $P = .944$) and driving distance (GHOA: 176.5 ± 42.6 m

Table V – Golf participant breakdown of hand dominance in RSA for GHOA cohort

Parameter	Golf		P value
	Dominant (R/R or L/L)	Nondominant (R/L or L/R)	
	n = 59	n = 41	
Age	68.2 ± 6.9	71.6 ± 6.7	.018*
Sex			
Male	81.4% (48)	75.6% (31)	.659
Female	18.6% (11)	24.4% (10)	
BMI	28.9 ± 5.2	28.6 ± 5.0	.908
Still playing postoperatively?			
Yes	94.9% (856)	92.7% (38)	.687
Performance level compared to preoperative			
Improved/stayed the same	83.1% (49)	82.9% (34)	>.999
Enjoyment level compared to preoperative			
More enjoyable/same amount	88.1% (52)	87.8% (36)	>.999
Frequency of participation compared to preoperative			
More frequently/same amount	79.7% (47)	78.0% (32)	>.999
How long after surgery did you resume golf participation?			
<3 mo	8.5% (5)	4.9% (2)	.928
3-6 mo	45.8% (27)	43.9% (18)	
7-12 mo	33.9% (20)	36.6% (15)	
12+ months	11.9% (7)	12.2% (5)	
Satisfaction score			
0-10	9.4 ± 1.4	9.3 ± 1.3	.583

GHOA, glenohumeral osteoarthritis; BMI, body mass index; rTSA, reverse total shoulder arthroplasty.

Table VI – Golf participant breakdown of hand dominance in TSA for GHOA cohort

Parameter	Golf		P value
	Dominant (R/R or L/L)	Nondominant (R/L or L/R)	
	n = 29	n = 22	
Age	63.6 ± 9.7	68.7 ± 8.4	.052
Sex			
Male	82.8% (24)	81.8% (18)	>.999
Female	17.2% (5)	18.2% (4)	
BMI	31.2 ± 7.9	28.8 ± 4.0	.470
Still playing postoperatively?			
Yes	86.2% (25)	95.5% (21)	.375
Performance level compared to preoperative			
Improved/stayed the same	82.8% (24)	81.8% (18)	>.999
Enjoyment level compared to preoperative			
More enjoyable/same amount	79.3% (23)	90.9% (40)	.440
Frequency of participation compared to preoperative			
More frequently/same amount	72.4% (21)	81.8% (18)	.518
How long after surgery did you resume golf participation?			
<3 mo	13.7% (4)	9.1% (2)	.677
3-6 mo	48.3% (14)	63.6% (14)	
7-12 mo	17.2% (5)	22.7% (5)	
12+ months	17.2% (5)	4.5% (1)	
Satisfaction score			
0-10	9.0 ± 1.7	9.0 ± 1.9	.878

GHOA, glenohumeral osteoarthritis; TSA, total shoulder arthroplasty; BMI, body mass index.

vs. RCA: 182.7 ± 40.7 m) were not significantly different between the 2 cohorts.

Predictors of worse postoperative performance

Multivariate logistic regression revealed that among revision arthroplasty, prior ipsilateral surgery, complications, and a diagnosis of RCA, only revision arthroplasty was significantly

associated with worse postoperative patient perceived golf performance ($P = .032$; Table IX).

Discussion

As hypothesized, the results of this multicenter study demonstrate that the majority of patients (~89%) successfully

Table VII – Golf participant breakdown of comparing diagnoses of OA and RCA for RSA

Parameter	RSA for OA	RSA for RCA	P value
	n = 67	n = 24	
Age	70.2 ± 6.5	71.7 ± 6.3	.533
Sex			
Male	82.1% (55)	56.9% (19)	.992
Female	17.9% (12)	79.2% (5)	
BMI	28.6 ± 5.2	29.0 ± 5.2	.858
Still playing postoperatively?			
Yes	94.0% (63)	87.5% (21)	.375
Performance level compared to preoperative			
Improved/stayed the same	89.6% (60)	79.2% (19)	.289
Enjoyment level compared to preoperative			
More enjoyable/same amount	92.5% (62)	87.5% (21)	.430
Frequency of participation compared to preoperative			
More frequently/same amount	80.6% (54)	63.0% (17)	.482
How long after surgery did you resume golf participation?			
<3 mo	7.4% (5)	22.2% (6)	.128
3-6 mo	44.8% (30)	40.7% (11)	
7-12 mo	37.3% (25)	18.5% (5)	
12+ months	9.0% (6)	7.4% (2)	
Satisfaction score			
0-10	9.5 ± 1.1	9.7 ± 0.7	.690

OA, osteoarthritis; RCA, rotator cuff arthropathy; BMI, body mass index.

Table VIII – Golf participant sport-specific breakdown of matched RSA and TSA cohorts

Parameter	Golf		P value
	RSA for OA	RSA for RCA	
	n = 52	n = 18	
What is your handicap?			
Preoperative	19.6 ± 8.0	19.8 ± 12.8	.944
Postoperative	18.9 ± 7.5	20.5 ± 12.3	.626
Change	−0.5 ± 3.7	0.6 ± 3.5	.458
Handicap improved/stayed the same	71.1% (37)	66.7% (12)	.952
	n = 60	n = 22	
What is your average driving distance?			
Preoperative	176.5 ± 42.6	182.7 ± 40.7	.546
Postoperative	177.2 ± 38.7	175.0 ± 36.8	.620
Change	1.0 ± 20.5	−7.7 ± 16.2	.114
Driving distance improved/stayed the same	76.7% (46)	59.1% (13)	.196

OA, osteoarthritis; RCA, rotator cuff arthropathy.

returned to golf after shoulder arthroplasty, with no significant difference between aTSA and rTSA. Specifically, the 2 cohorts showed comparable rates of return, changes in performance, enjoyment, and subjective satisfaction. Nearly half of patients resumed golf within 3 to 6 months postoperatively, with an additional third returning between 7 and 12 months. Return to golf outcomes were also unaffected by whether the arthroplasty was performed on the dominant or nondominant side, and within the rTSA cohort, diagnosis (RCA vs. GHOA) did not significantly influence postoperative golf outcomes. Only revision arthroplasty negatively impacted return to golf.

Table IX – Factors predictive of worse postoperative performance in golf

Performance in general				
Sport				
Parameter	β -coef	Confidence interval		P value
		2.5	97.5	
Revision arthroplasty	7.83	1.2	51.7	.032*
Prior ipsilateral surgery	0.85	0.38	1.93	.703
Complication	5.71	0.80	40.8	.082
Diagnosis of RCA	0.73	0.25	2.18	.582
RCA, rotator cuff arthropathy.				
* Factors used for propensity matching.				

RCA, rotator cuff arthropathy.

* Factors used for propensity matching.

Our findings conflict with Lansdown et al,²¹ who reported lower return to golf rates after rTSA when compared to aTSA. Their results were consistent with previous literature on RTS following shoulder arthroplasty that suggested outcomes after rTSA are generally less promising than after aTSA.^{22,24,29} However, most of the current RTS literature is derived from small samples with considerable heterogeneity for preoperative diagnosis. The interpretability and generalizability of Lansdown et al.'s golf specific analysis was limited by similar factors, most notably a small sample size, as only 31 patients were included.

In contrast, Boltuch et al¹³ performed a similar study with an expanded, though unbalanced, dataset and found results that align more closely with our own. They reported that nearly 90% of patients were able to return to golf within a year of surgery—nearly identical to the rate observed in the current study. Likewise, Boltuch et al found that patients perceived golf performance and enjoyment improved or remained the same for approximately 82% of patients, which is similar to the 79% and 83%, respectively, reported in our cohort.

Importantly, both Boltuch et al and the current study demonstrated that these measures did not differ between patients who received rTSA and aTSA.

When examining golf-specific performance metrics, our data parallels Boltuch et al in showing no significant difference in postoperative handicap change between rTSA and aTSA. However, our results diverge from Jensen and Rockwood¹⁸ and Papaliodis et al²⁵ who reported that aTSA patients experienced greater handicap improvement. Boltuch et al also analyzed postoperative driving distance and found that aTSA patients experienced greater gains compared to rTSA patients. In our study, however, we observed no such significant difference for handicap or driving distance change between the 2 arthroplasty types. It is worth noting that rTSA patients tended to report lower preoperative driving distances and higher handicaps. Although these differences did not reach statistical significance, they may suggest that patients undergoing rTSA had more severe shoulder limitations. We believe our larger, balanced, propensity-matched cohorts provide an accurate estimate of handicap and driving distance outcomes after rTSA and aTSA, contributing meaningfully to the existing literature.

Comparing golf-specific outcomes of aTSA and rTSA invites a focused discussion on the biomechanics of the golf swing. Following each arthroplasty, muscles used for shoulder motion are different and may influence golf outcomes. In a golf swing performed with an intact (non-arthroplasty) shoulder, the deltoid is typically inactive except for a brief spurt of activity from the lead shoulder just before contact with the ball.¹⁹ Meanwhile, the rotator cuff muscles are far more impactful, producing coordinated rotation and motor function. The subscapularis—the primary controller of humeral internal rotation—is the most active muscle throughout the swing¹⁹ while infraspinatus and teres minor, involved in humeral external rotation, are also critical.²⁶ Management of the subscapularis in rTSA remains a subject of debate due to inconsistent surgical approaches as well as anatomic and implant considerations. While the subscapularis can often be repaired during rTSA, there is no consensus to dictate its universal repair algorithm. The decision is often left to the surgeon's preference and intraoperative judgment. Evidence on the benefits of repair is mixed: some studies suggest that repairing the subscapularis reduces complications and enhances internal rotation,^{8,23,35} whereas others report no significant improvements, or even advise against repair,^{4,14} citing potential limitations in external rotation and abduction, as well as increased demands on the posterior rotator cuff.^{15,28}

It is also important to note that rTSAs are now frequently performed for cuff-intact GHOA, in which some rotator cuff function is preserved.¹⁷ For these patients, postoperative shoulder mechanics may not be entirely deltoid-driven, as elements of the cuff can still contribute to motion and stability. Even so, our study found no significant difference in return-to-golf outcomes between rTSA patients with GHOA and those with RCA as their primary diagnosis.

From a biomechanical perspective, one might expect aTSA to provide an advantage to golfers over rTSA, given the ability to maintain a typical rotator cuff and the necessity for rTSA patients to adapt their swing to deltoid controlled motion. Importantly, the current study found no significant disparity

in return to golf rates, patient perceived golf performance, enjoyment, or frequency of play. This suggests golfers are able to adapt their swing mechanics to anatomical shifts.

While the current study establishes that patients undergoing either aTSA or rTSA patients have a high likelihood of successfully returning to golf, evidence-based frameworks for supporting that return remain limited. We envision the data gathered from our work being able to contribute to golf and arthroplasty specific return to play protocols. This is a process that was started by Jensen and Rockwood¹⁸ for only aTSA patients in which putting was allowed at 2 weeks, short chips at 4-6 weeks, medium irons at 6-8 weeks, long irons at 2 months, and then a gradual patient guided progression to full swings with a driver. These patients were also counseled to tee up all shots for 1 year, limiting ground impact and stress on the shoulder. Using expanded cohorts with patients who received both rTSA and aTSA to revisit this protocol development may be beneficial to outcomes. Future work should address whether return to play timelines or interventions should differ by arthroplasty type and whether cuff or deltoid targeted rehabilitation can further optimize outcomes.

The strengths of this project include the multicenter cohort and Delphi design. Our results are derived from data from 24 surgeons working at 17 different institutions and is the largest known cohort of patients evaluated for return to golf following both aTSA and rTSA. The Delphi method required 75% consensus for all used study questionnaires and inclusion/exclusion criteria, enhancing rigor.

This study does, however, have several limitations that should be noted. Most importantly, this is a retrospective analysis relying on patient recall of their preoperative function. This inherently comes with a significant risk of recall bias. Reliance on patient questionnaires for data collection also increases the risk of selection bias as patients had to 'opt in' to participate. Further, because the survey assessed RTS broadly rather than golf specifically, the denominator of patients who received the survey and would have selected golf cannot be determined. As a result, a true response rate for golf participation could not be calculated. To help mitigate these limitations, propensity score matching for age and sex was used for our comparative analyses regarding arthroplasty type and preoperative diagnosis. Another important consideration is the high percentage of patients with GHOA compared to other diagnoses. There were also no objective swing or performance metrics collected with radar-based golf technologies (eg, driving distance, swing speed, dispersion, and other measures of swing mechanics such as path, attack angle, and smash factor), which could have eliminated the subjectivity of patients reporting their own golf statistics. Finally, this study involves multiple comparisons across several outcome domains, which increases the potential for type I error. No multiplicity correction was applied due to the exploratory nature of the study; thus, these findings should be interpreted with caution and considered hypothesis-generating rather than confirmatory.

Future research should include longer follow-up time to assess the durability of golf-specific outcomes, as well as objective performance metrics to strengthen findings—though these bring financial and logistic challenges. A focused analysis on whether the subscapularis should be

repaired during rTSA for patients hoping to return to golf would be another apt next step. Due to the multicenter nature of the present study, operative reports from all participating institutions were not available for centralized review; therefore, specific details regarding subscapularis management (eg, peel, tenotomy, or lesser tuberosity osteotomy) could not be reliably collected or analyzed. Additionally, biomechanical studies using surface or intramuscular electromyography could provide valuable insight into how aTSA and rTSA alter shoulder function during the golf swing. Lastly, expanding research to other upper-extremity sports, such as tennis and pickleball, would also broaden clinical guidance for active patients following shoulder arthroplasty.

Conclusion

Patients undergoing aTSA and rTSA can expect high rates of return to golf, stable or improved performance, and high satisfaction. Enjoyment and frequency typically remain the same or improve for both cohorts. Among rTSA patients, outcomes did not differ by diagnosis (GHOA vs. RCA). These findings support aTSA and rTSA as viable surgical options for patients seeking to maintain an active lifestyle through golf after shoulder arthroplasty.

Disclaimers:

Funding: No funding was disclosed by the authors.

Conflicts of interest: The authors, their immediate families, and any research foundations with which they are affiliated have not received any financial payments or other benefits from any commercial entity related to the subject of this article.

Supplementary Data

Supplementary data to this article can be found online at <https://doi.org/10.1016/j.jse.2026.03.021>.

REFERENCES

1. Aim F, Werthel J-D, Deranlot J, Vigan M, Nourissat G. Return to sport after shoulder arthroplasty in recreational athletes: a systematic review and meta-analysis. *Am J Sports Med* 2018;46:1251–7. <https://doi.org/10.1177/0363546517714449>.
2. Best MJ, Aziz KT, Wilckens JH, McFarland EG, Srikanth U. Increasing incidence of primary reverse and anatomic total shoulder arthroplasty in the United States. *J Shoulder Elbow Surg* 2021;30:1159–66. <https://doi.org/10.1016/j.jse.2020.08.010>.
3. Boltuch A, Grewal G, Cannon D, Toma J, Levy JC. Return to golf after shoulder arthroplasty: golf performance and outcome scores. *Semin Arthroplasty* 2022;32:343–50. <https://doi.org/10.1053/j.sart.2021.11.007>.
4. Boulahia A, Edwards TB, Walch G, Baratta RV. Early results of a reverse design prosthesis in the treatment of arthritis of the shoulder in elderly patients with a large rotator cuff tear. *Orthopedics* 2002;25:129–33. <https://doi.org/10.3928/0147-7447-20020201-16>.
5. Cappellari A, Trovarelli G, Andriolo M, Berizzi A, Ruggieri P. Reverse shoulder arthroplasty for treatment of proximal humerus complex fractures in elderly: a single institution experience. *Injury* 2022;53:S2–7. <https://doi.org/10.1016/j.injury.2020.07.056>.
6. Cazeneuve JF, Cristofari D-J. The reverse shoulder prosthesis in the treatment of fractures of the proximal humerus in the elderly. *J Bone Joint Surg Br* 2010;92-B:535–9. <https://doi.org/10.1302/0301-620X.92B4.22450>.
7. Dukan R, Rouillon O, Masmejean EH. Can you maintain a competitive golf swing after total shoulder arthroplasty? *Eur J Orthop Surg Traumatol* 2023;33:795–801. <https://doi.org/10.1007/s00590-022-03213-2>.
8. Edwards TB, Williams MD, Labriola JE, Elkousy HA, Gartsman GM, O'Connor DP. Subscapularis insufficiency and the risk of shoulder dislocation after reverse shoulder arthroplasty. *J Shoulder Elbow Surg* 2009;18:892–6. <https://doi.org/10.1016/j.jse.2008.12.013>.
9. Escamilla RF, Andrews JR. Shoulder muscle recruitment patterns and related biomechanics during upper extremity sports. *Sports Med* 2009;39:569–90. <https://doi.org/10.2165/00007256-200939070-00004>.
10. Farley KX, Wilson JM, Kumar A, Gottschalk MB, Daly C, Sanchez-Sotelo J, et al. Prevalence of shoulder arthroplasty in the United States and the increasing burden of revision shoulder arthroplasty. *JBJS Open Access* 2021;6:e20.00156. <https://doi.org/10.2106/JBJS.OA.20.00156>.
11. Fletcher GF, Balady GJ, Amsterdam EA, Chaitman B, Eckel R, Fleg J, et al. Exercise standards for testing and training. *Circulation* 2001;104:1694–740.
12. Gao KL, Hui-Chan CWY, Tsang WWN. Golfers have better balance control and confidence than healthy controls. *Eur J Appl Physiol* 2011;111:2805–12. <https://doi.org/10.1007/s00421-011-1910-7>.
13. Going S, Lohman T, Houtkooper L, Metcalfe L, Flint-Wagner H, Blew R, et al. Effects of exercise on bone mineral density in calcium-replete postmenopausal women with and without hormone replacement therapy. *Osteoporos Int* 2003;14:637–43. <https://doi.org/10.1007/s00198-003-1436-x>.
14. Grassi FA, Zorzo I. Reverse shoulder arthroplasty without subscapularis repair for the treatment of proximal humeral fractures in the elderly. *Musculoskelet Surg* 2014;98:5–13. <https://doi.org/10.1007/s12306-014-0321-4>.
15. Greiner S, Schmidt C, König C, Perka C, Herrmann S. Later-alized reverse shoulder arthroplasty maintains rotational function of the remaining rotator cuff. *Clin Orthop Relat Res* 2013;471:940–6. <https://doi.org/10.1007/s11999-012-2692-x>.
16. Harjula JNE, Paloneva J, Haapakoski J, Kukkonen J, Äärämaa V, Honkanen P, et al. Increasing incidence of primary shoulder arthroplasty in Finland – a nationwide registry study. *BMC Musculoskelet Disord* 2018;19:245. <https://doi.org/10.1186/s12891-018-2150-3>.
17. Heifner JJ, Kumar AD, Wagner ER. Glenohumeral osteoarthritis with intact rotator cuff treated with reverse shoulder arthroplasty: a systematic review. *J Shoulder Elbow Surg* 2021;30:2895–903. <https://doi.org/10.1016/j.jse.2021.06.010>.
18. Jensen KL, Rockwood CA. Shoulder arthroplasty in recreational golfers. *J Shoulder Elbow Surg* 1998;7:362–7.
19. Jobe FW, Moynes DR, Antonelli DJ. Rotator cuff function during a golf swing. *Am J Sports Med* 1986;14:388–92.
20. KF R. Global Initiative for Chronic Obstructive Lung Disease. Global strategy for the diagnosis, management, and prevention of chronic obstructive pulmonary disease. GOLD executive summary. *Am J Respir Crit Care Med* 2007;176:532–55. <https://doi.org/10.1164/rccm.201204-0596PP>.
21. Lansdown DA, Cheung EC, Aung MS, Zhang AL, Feeley BT, Ma CB. Return to golf and golf-specific performance after anatomic total shoulder arthroplasty and reverse total

- shoulder arthroplasty. *Semin Arthroplasty* 2021;31:278–84. <https://doi.org/10.1053/j.sart.2020.12.009>.
22. Liu JN, Steinhaus ME, Garcia GH, Chang B, Fields K, Dines DM, et al. Return to sport after shoulder arthroplasty: a systematic review and meta-analysis. *Knee Surg Sports Traumatol Arthrosc* 2018;26:1795. <https://doi.org/10.1007/s00167-017-4547-1>.
 23. Oh JH, Shin S-J, McGarry MH, Scott JH, Heckmann N, Lee TQ. Biomechanical effects of humeral neck-shaft angle and subscapularis integrity in reverse total shoulder arthroplasty. *J Shoulder Elbow Surg* 2014;23:1091–8. <https://doi.org/10.1016/j.jse.2013.11.003>.
 24. Papalia R, Ciuffreda M, Albo E, De Andreis C, Diaz Balzani LA, Alifano AM, et al. Return to sport after anatomic and reverse total shoulder arthroplasty in elderly patients: a systematic review and meta-analysis. *J Clin Med* 2020;9:1576. <https://doi.org/10.3390/jcm9051576>.
 25. Papaliodis D, Richardson N, Tartaglione J, Roberts T, Whipple R, Zanaros G. Impact of total shoulder arthroplasty on golfing activity. *Clin J Sport Med* 2015;25:338–40. <https://doi.org/10.1097/JSM.0000000000000148>.
 26. Pink M, Jobe FW, Perry J. Electromyographic analysis of the shoulder during the golf swing. *Am J Sports Med* 1990;18:137–40.
 27. Report GI. National golf foundation. Available at: <https://www.ngf.org/the-clubhouse/golf-industry-research/>; 2020. Accessed 08/13/2025.
 28. Routman HD. The role of subscapularis repair in reverse total shoulder arthroplasty. *Bull Hosp Joint Dis* 2013;71:2328–4633.
 29. Salem HS, Park DH, Thon SG, Bravman JT, Seidl AJ, McCarty EC, et al. Return to golf after shoulder arthroplasty: a systematic review. *The Am J Sports Med* 2021;49:1109–15. <https://doi.org/10.1177/0363546520923070>.
 30. Sell TC, Tsai Y-S, Smoliga JM, Myers JB, Lephart SM. STRENGTH, flexibility, and balance characteristics of highly proficient golfers. *J Strength Conditioning Res* 2007;21:1166–71. <https://doi.org/10.1519/R-21826.1>.
 31. Sigal RJ, Kenny GP, Wasserman DH, Castaneda-Sceppa C. Physical activity/exercise and type 2 diabetes. *Diabetes care* 2004;27:2518–39. <https://doi.org/10.2337/diacare.27.10.2518>.
 32. Sorbie G, Richardson A, Glenn J, Hardie S, Taliep S, Wade M, et al. The association of golf participation with health and wellbeing: a comparative study. *Int J Golf Sci* 2020;9:2168–7595.
 33. Tsang WWN, Hui-Chan CWY. Effects of exercise on joint sense and balance in elderly men: Tai chi versus golf. *Med Sci Sports Exerc* 2004;36:658–67. <https://doi.org/10.1249/01.mss.0000122077.87090.2e>.
 34. Tsang WWN, Hui-Chan CWY. Static and dynamic balance control in older golfers. *J Aging Phys Activity* 2010;18:1–13. <https://doi.org/10.1123/japa.18.1.1>.
 35. Vourazeris JD, Wright TW, Struk AM, King JJ, Farmer KW. Primary reverse total shoulder arthroplasty outcomes in patients with subscapularis repair versus tenotomy. *J Shoulder Elbow Surg* 2017;26:450–7. <https://doi.org/10.1016/j.jse.2016.09.017>.
 36. World GAT. The royal and Ancient. Available at: <https://assets-us-01.kc-usercontent.com/c42c7bf4-dca7-00ea-4f2e-373223f80f76/50ff4344-b576-4e2e-a9e2-8411712954ac/2021%20Golf%20Around%20The%20World%20Fourth%20Edition.pdf>; 2015. Accessed 08/20/2025.